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Section A

Questions 1 to 6 carry 2 marks each.

For each question, four options are given. One of them is the
correct answer. Choose the correct answer and write its
number (1, 2, 3 or 4) in the brackets ( ) provided.,

* (Total: 12 marks)
1. The height of a water bottle is '
(1) 2cm (2) 2m
(3) 20cm (4) 20im ( )

2!l x5=5+5+5+5+5+10

Find the missing number in the box.

{1) 6 (2) © .

(3) 7 | (4 8 ( )
3. Which one of the following has a value greater than 217

(1) 2x9 (2) 10x2 _
(3) 3x7 (4) 5x6 ( )

th



The mass. of a box of tomatoes is 13 kg lighter than a mass
of a box of potatoes.

If the mass of the box of potatoes is 50 kg, what is the mass
of the box of tomatoes?

(1) 37kg (2) 43kg
(3) 47kg - _ (4) 63kg {

Mr Tan is 178 cm tall.
Mrs Tan is 19 cmi shorterthan Mr Tan
How tali is Mrs Tan?

(1) 159em (2) 161 cm :
(3) 181em . A (4) 197 em {
Study the diagram below.

All the cans of paint shown has the same mass.
Find the mass. of one can of paint.

(1) 14kg
(3) 3kg




Section B
‘Questions 7 to 12 carry two.marks each. Show your working
clearly in the space provided for each guestion and write your
answer in the blank provided.

{Total: 12 marks)

7.  Whatis the missing numbef irn the box?

Ans: -

8. Jessiehas 9 m of ribbori.
She uses the ribbon to make 3 hairbands of equal length.
What is the length of each hairtband?

9. Mdm Poh has 40 bowls.
She arranges an equat number of bowls on 10 tables.
How many bowls will there be on each table?

Ans:




10.  Whiie -a. multiplication sentence and a dmsaon sentefice
based o the picture below.




11. The diagram below shows the length of a chilli, a carrot and

a leaf. |
Find the total length of the 3 items.

B9 00 R WM

(Diagram is not drawn to scale)

Ans: cm

5 15



12.  Study the diagram below. S
Arrange the items acoording to their mass;, beyginhing with*
the lightest. o ‘

Ans:

lightest ' hééﬁest

6




Section G

CQuestions 13 to 16 carry 4 marks each:

Do these word problems carefully. -

Show your working clearly Tn the space provided.: for each

question.

(Total: 16 marks)

13. .Jane is 4 cm taller than Alice.
Alice is 2 om taller than Cathy.
If Cathy is 160 cm tall how tall is Jane?

Janeis cm tail.

14. There are 18 girls and 22 boys in Mrs Minah’s class.
The children need to be grouped into groups of 5.
How many groups will there be?

OLIO
OO

There will be _groups.

7

I+



15. - Mrs Tay wants to gwe 43 paper ﬂowers to her pupils.

16.

She folds 4 paper flowers everyday from Monday.to -
Saturday. .
How many more paper flowers will stie need to fold?

O |

Shewillneedtofold . mére paperflowers.

Mr Ho.had 130 kg of sugar aiid he sold 85 kg of it.

After buying some more sugar, the total mass of the sugar
he had was 270 kg.

How many kilograms of sugar did he buy?

OO
Ol 1O

He bought kg of sugar.

& End of Paper ©
Please Check Carefully
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SECTIONB

7.6

8.3

9.4

10.2X6 =12
12+-2=6

11. 25
12. 250g, 550g, 5kg

SECTION C

13.160+ 2 =162
162 + 4 = 166

Jane is 166 cm tall.

14.18 + 22 =40
40+5=8

There will be 8 groups.

15.4x6 =24
43—-24 =19

She will need to fold 19 more paper flowers.

16.130-85=45
270 —-45 =225

He bought 225kg of sugar.
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